To solve A% of _ is B: Write equation (use decimal or fraction) changing __ to x; of to *; is to =; then do the algebra step.			      			                  ____________________
	1. 30% of __ is 12
	2. 80% of what number is 48?

	3. .76 is 4% of what number?

	4. There are 24 Hispanic members and this is 30% of the overall membership. Find the overall membership.

	5. The sales tax is $1.95. The sales tax rate is 7.5%. What was the cost of the item (without the tax)?

	6. At the championship game the crowd was 115% of the stadium's capacity. There were 9,200 at the game. What is the stadium's capacity?

	7. 33% of the online customers spent enough to get free shipping. There were 369 online customers. How many customers got free shipping?

	8. The Heat shot 18 three point shots. They made 12. What was their shooting percentage behind the arc?

	9. 33 1/3 % of the class earned an 'A.' There are 24 students. How many earned an 'A'?

	10. What is 133% of 60?
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